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CHAPTER 3.3.: PUBLIC EXPENDITURE IN DEPENDENCY 
 
 
EXERCISE 1 
Choose the correct answer for each of the following questions. There is only one correct 
answer: 
 
1) In the Autonomy and Dependency System, with the information obtained together 

with the original documentation submitted by the applicant (medical and social 
report), the file is completed in the computer app designed for this purpose in which 
the person is assigned  a degree and a level of dependence which means: 
a) That the individual always has a degree of dependency. 
b) That the individual always has the Ist degree of dependency. 
c) That the individual always has the IInd degree of dependency. 
d) That sometimes it is not appropriate to apply a degree of dependency. 

  
2) Why the Dependency Law is being questioned in its application? 

a) Ideological reasons. 
b) Because the degrees of dependency are not established. 
c) Due to financial difficulties imposed to both the State and the Autonomous 

Communities that have to implement it. 
d) Due to a high dependent population. 

 
3) In the Dependency Law, how are the contributions in the form of co-payments of 

the users of the system?: 
a) They are always the same between Autonomous Communities. 
b) They are different between Autonomous Communities.  
c) They are the same as the average between Autonomous Communities. 
d) They are equal to the maximum copayment between Autonomous Communities.  

 
4) Those Autonomous Communities with lower income that want to generate the same 

private financing for the dependency system: 
a) They should force equal co-payment rates for services per capita. 
b) They should force higher co-payment rates for services per capita. 
c) They should force lower co-payment rates for services per capita. 
d) All previous answers are correct. 

 
5) Since the progressive implementation of the dependency care system, the number of 

requests for inclusion in it: 
a) It has remained constant as time has gone by. 
b) It has decreased as time has gone by. 
c) It has increased as time has gone by. 
d) All previous answers are correct.  
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6) The Law for the Promotion of Personal Autonomy and Care for People in 

Dependent Situations (LAPAD) offers benefits to care for people in dependency 
situations: 
a) Economic benefits. 
b) Provision of services. 
c) Retirement pensions. 
d) Both Economic benefits  and provision of services. 
 

7) The growing weight of economic benefits, contrary to the exceptional nature 
initially assumed by the Dependency Law, can be understood: 
a) As if they have implicitly become a tax substitute in precarious situations. 
b) As if they have implicitly become a subsidy substitute in precarious situations.  
c) As if they have implicitly become a substitute for employment in precarious 

situations.  
d) All previous answers are correct.  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


